



ARIZONA DEPARTMENT OF TRANSPORTATION
PROJECT DELIVERY AND OPERATIONS DIVISION
CONTRACTS AND SPECIFICATIONS SECTION

TABULATION OF BIDS

CONTRACT # 2024025

TRACS No.	Project No.	Item	County	District	Gross Length	Net Length	Prepared By:
0000 MA GIL T033601C	GIL-0-(218)T	102465	MARICOPA	CENTRAL		0	Jalal Kamal

Highway Termini	Location	Work Description
• TOWN OF GILBERT	• Mews Rd beginning at Higley Rd	• System Enhancement (Engineering)

BID RESULTS FOR 2024025

Bid Opening Date : 11/21/2025, Prequalification Required, Engineer Specialist : Jalal Kamal

Completion Date:

110 Working Days

The proposed project is located in Maricopa County, within the Town of Gilbert, for the half-mile of Mews Road east of Higley Road. The project work includes paving gravel roadway, construction of a concrete drainage channel on the south side of Mews Road, and waterline and sewer line extensions and other related work.

Bid Rank	Compared To Department Estimat	Option #	Bid Amount	Contractor	Extended Sum of Items
	+%		\$2,179,847.00	DEPARTMENT ESTIMATE	\$2,179,847.00
1	+32.3%		\$2,882,974.10	RUMMEL CONSTRUCTION, INC 7520 E. ADOBE DRIVE SCOTTSDALE, AZ 85255-	\$2,882,974.10
2	+34.3%		\$2,926,592.62	HUNTER CONTRACTING COMPANY 701 N. COOPER RD GILBERT, AZ 85233-	\$2,926,592.62
3	+43.2%		\$3,122,537.55	D B A CONSTRUCTION INC. 1833 SOUTH 59TH AVENUE PHOENIX, AZ 85043-	\$3,122,537.55
4	+77.4%		\$3,866,090.00	GRANITE CONSTRUCTION COMPANY 4115 E ILLINOIS ST TUCSON, AZ 85714-	\$3,866,090.00

Winning Bidder is 32.3% Over Department Estimate (Difference = \$703,127.10)

*** Bid Tabs for Proposal Pamphlet 2024025 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
2020020	L.FT.	REMOVAL OF CONCRETE CURB				
Bid Rank	Department Estimate		59.000	\$36.000	\$2,124.00	
1	RUMMEL CONSTRUCTION, INC			\$13.950	\$823.05	-61.3%
2	HUNTER CONTRACTING COMPANY			\$16.470	\$971.73	-54.3%
3	D B A CONSTRUCTION INC.			\$14.000	\$826.00	-61.1%
4	GRANITE CONSTRUCTION COMPANY			\$50.000	\$2,950.00	+38.9%
2020029	SQ.YD.	REMOVAL OF ASPHALTIC CONCRETE PAVEMENT				
Bid Rank	Department Estimate		306.000	\$58.000	\$17,748.00	
1	RUMMEL CONSTRUCTION, INC			\$16.700	\$5,110.20	-71.2%
2	HUNTER CONTRACTING COMPANY			\$13.630	\$4,170.78	-76.5%
3	D B A CONSTRUCTION INC.			\$9.000	\$2,754.00	-84.5%
4	GRANITE CONSTRUCTION COMPANY			\$25.000	\$7,650.00	-56.9%
2020061	EACH	REMOVE AND RELOCATE MAIL BOXES				
Bid Rank	Department Estimate		13.000	\$400.000	\$5,200.00	
1	RUMMEL CONSTRUCTION, INC			\$700.000	\$9,100.00	+75.0%
2	HUNTER CONTRACTING COMPANY			\$1,207.060	\$15,691.78	+201.8%
3	D B A CONSTRUCTION INC.			\$580.000	\$7,540.00	+45.0%
4	GRANITE CONSTRUCTION COMPANY			\$1,150.000	\$14,950.00	+187.5%
2020101	L.FT.	REMOVE FENCE				
Bid Rank	Department Estimate		653.000	\$15.000	\$9,795.00	
1	RUMMEL CONSTRUCTION, INC			\$6.000	\$3,918.00	-60.0%
2	HUNTER CONTRACTING COMPANY			\$3.970	\$2,592.41	-73.5%
3	D B A CONSTRUCTION INC.			\$2.300	\$1,501.90	-84.7%
4	GRANITE CONSTRUCTION COMPANY			\$7.000	\$4,571.00	-53.3%
2030301	CU.YD.	ROADWAY EXCAVATION				
Bid Rank	Department Estimate		5,500.000	\$40.000	\$220,000.00	
1	RUMMEL CONSTRUCTION, INC			\$30.000	\$165,000.00	-25.0%
2	HUNTER CONTRACTING COMPANY			\$45.000	\$247,500.00	+12.5%
3	D B A CONSTRUCTION INC.			\$20.000	\$110,000.00	-50.0%
4	GRANITE CONSTRUCTION COMPANY			\$30.000	\$165,000.00	-25.0%
2030507	CU.YD.	COMPACTED BACKFILL (SPECIAL FILL)				
Bid Rank	Department Estimate		2,823.000	\$50.000	\$141,150.00	
1	RUMMEL CONSTRUCTION, INC			\$5.750	\$16,232.25	-88.5%
2	HUNTER CONTRACTING COMPANY			\$65.000	\$183,495.00	+30.0%
3	D B A CONSTRUCTION INC.			\$9.400	\$26,536.20	-81.2%
4	GRANITE CONSTRUCTION COMPANY			\$19.000	\$53,637.00	-62.0%
2050001	SQ.YD.	GRADING ROADWAY FOR PAVEMENT				
Bid Rank	Department Estimate		6,979.000	\$30.000	\$209,370.00	
1	RUMMEL CONSTRUCTION, INC			\$2.600	\$18,145.40	-91.3%

*** Bid Tabs for Proposal Pamphlet 2024025 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
2050001	SQ.YD.	GRADING ROADWAY FOR PAVEMENT				
Bid Rank	Department Estimate		6,979.000	\$30.000	\$209,370.00	
2	HUNTER CONTRACTING COMPANY			\$6.850	\$47,806.15	-77.2%
3	D B A CONSTRUCTION INC.			\$1.450	\$10,119.55	-95.2%
4	GRANITE CONSTRUCTION COMPANY			\$4.000	\$27,916.00	-86.7%
3030022	CU.YD.	AGGREGATE BASE, CLASS 2				
Bid Rank	Department Estimate		1,413.000	\$95.000	\$134,235.00	
1	RUMMEL CONSTRUCTION, INC			\$70.000	\$98,910.00	-26.3%
2	HUNTER CONTRACTING COMPANY			\$91.410	\$129,162.33	-3.8%
3	D B A CONSTRUCTION INC.			\$89.000	\$125,757.00	-6.3%
4	GRANITE CONSTRUCTION COMPANY			\$90.000	\$127,170.00	-5.3%
4090003	TON	ASPHALTIC CONCRETE (MISCELLANEOUS STRUCTURAL)				
Bid Rank	Department Estimate		1,202.000	\$135.000	\$162,270.00	
1	RUMMEL CONSTRUCTION, INC			\$120.000	\$144,240.00	-11.1%
2	HUNTER CONTRACTING COMPANY			\$142.210	\$170,936.42	+5.3%
3	D B A CONSTRUCTION INC.			\$145.000	\$174,290.00	+7.4%
4	GRANITE CONSTRUCTION COMPANY			\$112.000	\$134,624.00	-17.0%
5011013	L.FT.	PIPE, REINFORCED CONCRETE, CLASS III, 18"				
Bid Rank	Department Estimate		192.000	\$214.000	\$41,088.00	
1	RUMMEL CONSTRUCTION, INC			\$160.600	\$30,835.20	-25.0%
2	HUNTER CONTRACTING COMPANY			\$213.380	\$40,968.96	-0.3%
3	D B A CONSTRUCTION INC.			\$123.000	\$23,616.00	-42.5%
4	GRANITE CONSTRUCTION COMPANY			\$160.000	\$30,720.00	-25.2%
5011043	L.FT.	PIPE, REINFORCED CONCRETE, CLASS III, 36"				
Bid Rank	Department Estimate		111.000	\$432.000	\$47,952.00	
1	RUMMEL CONSTRUCTION, INC			\$230.900	\$25,629.90	-46.6%
2	HUNTER CONTRACTING COMPANY			\$249.340	\$27,676.74	-42.3%
3	D B A CONSTRUCTION INC.			\$315.000	\$34,965.00	-27.1%
4	GRANITE CONSTRUCTION COMPANY			\$290.000	\$32,190.00	-32.9%
5030162	EACH	INLET STRUCTURE (INLET PER MAG DET 502-1 AND DTL ON SHT C02, W/ TRASH RACK)				
Bid Rank	Department Estimate		1.000	\$6,000.000	\$6,000.00	
1	RUMMEL CONSTRUCTION, INC			\$11,500.000	\$11,500.00	+91.7%
2	HUNTER CONTRACTING COMPANY			\$18,322.040	\$18,322.04	+205.4%
3	D B A CONSTRUCTION INC.			\$11,600.000	\$11,600.00	+93.3%
4	GRANITE CONSTRUCTION COMPANY			\$21,000.000	\$21,000.00	+250.0%
5041997	EACH	DRAINAGE STRUCTURE (HEADWALL) (DETAIL S02)				
Bid Rank	Department Estimate		1.000	\$10,000.000	\$10,000.00	
1	RUMMEL CONSTRUCTION, INC			\$40,000.000	\$40,000.00	+300.0%
2	HUNTER CONTRACTING COMPANY			\$47,383.390	\$47,383.39	+373.8%

*** Bid Tabs for Proposal Pamphlet 2024025 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
5041997	EACH	DRAINAGE STRUCTURE (HEADWALL) (DETAIL S02)				
Bid Rank		Department Estimate	1.000	\$10,000.000	\$10,000.00	
3		D B A CONSTRUCTION INC.		\$31,550.000	\$31,550.00	+215.5%
4		GRANITE CONSTRUCTION COMPANY		\$50,000.000	\$50,000.00	+400.0%
5050089	EACH	MANHOLE (SHALLOW MANHOLE, MAG DET. 422, 520 & 522)				
Bid Rank		Department Estimate	1.000	\$22,000.000	\$22,000.00	
1		RUMMEL CONSTRUCTION, INC		\$21,500.000	\$21,500.00	-2.3%
2		HUNTER CONTRACTING COMPANY		\$19,792.250	\$19,792.25	-10.0%
3		D B A CONSTRUCTION INC.		\$8,100.000	\$8,100.00	-63.2%
4		GRANITE CONSTRUCTION COMPANY		\$15,000.000	\$15,000.00	-31.8%
5080186	EACH	DROP STRUCTURE				
Bid Rank		Department Estimate	1.000	\$20,000.000	\$20,000.00	
1		RUMMEL CONSTRUCTION, INC		\$6,500.000	\$6,500.00	-67.5%
2		HUNTER CONTRACTING COMPANY		\$13,839.630	\$13,839.63	-30.8%
3		D B A CONSTRUCTION INC.		\$3,050.000	\$3,050.00	-84.8%
4		GRANITE CONSTRUCTION COMPANY		\$10,000.000	\$10,000.00	-50.0%
6070054	L.FT.	SIGN POST (PERFORATED) (2 S)				
Bid Rank		Department Estimate	13.000	\$16.000	\$208.00	
1		RUMMEL CONSTRUCTION, INC		\$64.000	\$832.00	+300.0%
2		HUNTER CONTRACTING COMPANY		\$12.350	\$160.55	-22.8%
3		D B A CONSTRUCTION INC.		\$62.000	\$806.00	+287.5%
4		GRANITE CONSTRUCTION COMPANY		\$14.100	\$183.30	-11.9%
6070060	EACH	FOUNDATION FOR SIGN POST (CONCRETE)				
Bid Rank		Department Estimate	30.000	\$450.000	\$13,500.00	
1		RUMMEL CONSTRUCTION, INC		\$223.000	\$6,690.00	-50.4%
2		HUNTER CONTRACTING COMPANY		\$281.370	\$8,441.10	-37.5%
3		D B A CONSTRUCTION INC.		\$216.000	\$6,480.00	-52.0%
4		GRANITE CONSTRUCTION COMPANY		\$300.000	\$9,000.00	-33.3%
6071011	L.FT.	SIGN POST (PERFORATED)(1 3/4S)				
Bid Rank		Department Estimate	338.000	\$15.000	\$5,070.00	
1		RUMMEL CONSTRUCTION, INC		\$13.000	\$4,394.00	-13.3%
2		HUNTER CONTRACTING COMPANY		\$11.200	\$3,785.60	-25.3%
3		D B A CONSTRUCTION INC.		\$13.000	\$4,394.00	-13.3%
4		GRANITE CONSTRUCTION COMPANY		\$12.000	\$4,056.00	-20.0%
6080005	SQ.FT.	REGULATORY, WARNING, OR MARKER SIGN PANEL				
Bid Rank		Department Estimate	111.000	\$30.000	\$3,330.00	
1		RUMMEL CONSTRUCTION, INC		\$44.500	\$4,939.50	+48.3%
2		HUNTER CONTRACTING COMPANY		\$22.390	\$2,485.29	-25.4%
3		D B A CONSTRUCTION INC.		\$43.000	\$4,773.00	+43.3%

*** Bid Tabs for Proposal Pamphlet 2024025 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
6080005	SQ.FT.	REGULATORY, WARNING, OR MARKER SIGN PANEL				
Bid Rank	Department Estimate		111.000	\$30.000	\$3,330.00	
4	GRANITE CONSTRUCTION COMPANY			\$22.000	\$2,442.00	-26.7%
6080110	EACH	REMOVE AND REINSTALL SIGN				
Bid Rank	Department Estimate		1.000	\$600.000	\$600.00	
1	RUMMEL CONSTRUCTION, INC			\$615.000	\$615.00	+2.5%
2	HUNTER CONTRACTING COMPANY			\$441.860	\$441.86	-26.4%
3	D B A CONSTRUCTION INC.			\$595.000	\$595.00	-0.8%
4	GRANITE CONSTRUCTION COMPANY			\$155.000	\$155.00	-74.2%
7016030	EACH-DAY	BARRICADE (TYPE 1, TYPE 2, VERT.PANEL, TUBULAR MARKER)				
Bid Rank	Department Estimate		13,910.000	\$0.500	\$6,955.00	
1	RUMMEL CONSTRUCTION, INC			\$0.250	\$3,477.50	-50.0%
2	HUNTER CONTRACTING COMPANY			\$0.870	\$12,101.70	+74.0%
3	D B A CONSTRUCTION INC.			\$1.250	\$17,387.50	+150.0%
4	GRANITE CONSTRUCTION COMPANY			\$0.250	\$3,477.50	-50.0%
7016033	EACH-DAY	PORTABLE SIGN STAND (SPRING TYPE)				
Bid Rank	Department Estimate		1,328.000	\$1.750	\$2,324.00	
1	RUMMEL CONSTRUCTION, INC			\$0.900	\$1,195.20	-48.6%
2	HUNTER CONTRACTING COMPANY			\$0.810	\$1,075.68	-53.7%
3	D B A CONSTRUCTION INC.			\$6.400	\$8,499.20	+265.7%
4	GRANITE CONSTRUCTION COMPANY			\$0.900	\$1,195.20	-48.6%
7016035	EACH-DAY	WARNING LIGHT (TYPE A)				
Bid Rank	Department Estimate		678.000	\$1.000	\$678.00	
1	RUMMEL CONSTRUCTION, INC			\$0.150	\$101.70	-85.0%
2	HUNTER CONTRACTING COMPANY			\$0.580	\$393.24	-42.0%
3	D B A CONSTRUCTION INC.			\$0.800	\$542.40	-20.0%
4	GRANITE CONSTRUCTION COMPANY			\$0.130	\$88.14	-87.0%
7016051	EACH-DAY	TEMPORARY SIGN (LESS THAN 10 S.F.)				
Bid Rank	Department Estimate		1,328.000	\$1.000	\$1,328.00	
1	RUMMEL CONSTRUCTION, INC			\$0.650	\$863.20	-35.0%
2	HUNTER CONTRACTING COMPANY			\$1.490	\$1,978.72	+49.0%
3	D B A CONSTRUCTION INC.			\$2.100	\$2,788.80	+110.0%
4	GRANITE CONSTRUCTION COMPANY			\$0.700	\$929.60	-30.0%
7040005	L.FT.	PAVEMENT MARKING (WHITE EXTRUDED THERMOPLASTIC) (0.090")				
Bid Rank	Department Estimate		54.000	\$1.000	\$54.00	
1	RUMMEL CONSTRUCTION, INC			\$79.900	\$4,314.60	+7890.0%
2	HUNTER CONTRACTING COMPANY			\$73.840	\$3,987.36	+7284.0%
3	D B A CONSTRUCTION INC.			\$8.000	\$432.00	+700.0%
4	GRANITE CONSTRUCTION COMPANY			\$18.000	\$972.00	+1700.0%

*** Bid Tabs for Proposal Pamphlet 2024025 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
7080201	L.FT.	WATERBORNE-TYPE I PAVEMENT MARKING (PAINTED) (WHITE)				
Bid Rank	Department Estimate		12.000	\$1.250	\$15.00	
1	RUMMEL CONSTRUCTION, INC			\$35.500	\$426.00	+2740.0%
2	HUNTER CONTRACTING COMPANY			\$16.240	\$194.88	+1199.2%
3	D B A CONSTRUCTION INC.			\$6.000	\$72.00	+380.0%
4	GRANITE CONSTRUCTION COMPANY			\$29.000	\$348.00	+2220.0%
8080222	EACH	GATE VALVE (8")				
Bid Rank	Department Estimate		7.000	\$1,000.000	\$7,000.00	
1	RUMMEL CONSTRUCTION, INC			\$6,225.000	\$43,575.00	+522.5%
2	HUNTER CONTRACTING COMPANY			\$5,319.920	\$37,239.44	+432.0%
3	D B A CONSTRUCTION INC.			\$7,800.000	\$54,600.00	+680.0%
4	GRANITE CONSTRUCTION COMPANY			\$4,000.000	\$28,000.00	+300.0%
8080299	L.FT.	PIPE (PVC) (8") (AWWA C-900) (WATER LINE)				
Bid Rank	Department Estimate		870.000	\$10.000	\$8,700.00	
1	RUMMEL CONSTRUCTION, INC			\$76.750	\$66,772.50	+667.5%
2	HUNTER CONTRACTING COMPANY			\$122.590	\$106,653.30	+1125.9%
3	D B A CONSTRUCTION INC.			\$238.000	\$207,060.00	+2280.0%
4	GRANITE CONSTRUCTION COMPANY			\$180.000	\$156,600.00	+1700.0%
8080617	EACH	PROVIDE WATER SERVICE (1")				
Bid Rank	Department Estimate		21.000	\$3,000.000	\$63,000.00	
1	RUMMEL CONSTRUCTION, INC			\$4,000.000	\$84,000.00	+33.3%
2	HUNTER CONTRACTING COMPANY			\$3,477.000	\$73,017.00	+15.9%
3	D B A CONSTRUCTION INC.			\$6,100.000	\$128,100.00	+103.3%
4	GRANITE CONSTRUCTION COMPANY			\$6,000.000	\$126,000.00	+100.0%
8080643	EACH	VALVE BOX FRAME AND COVER, TYPE B				
Bid Rank	Department Estimate		7.000	\$500.000	\$3,500.00	
1	RUMMEL CONSTRUCTION, INC			\$960.000	\$6,720.00	+92.0%
2	HUNTER CONTRACTING COMPANY			\$1,673.910	\$11,717.37	+234.8%
3	D B A CONSTRUCTION INC.			\$2,115.000	\$14,805.00	+323.0%
4	GRANITE CONSTRUCTION COMPANY			\$1,000.000	\$7,000.00	+100.0%
8080651	EACH	FIRE HYDRANT				
Bid Rank	Department Estimate		7.000	\$3,000.000	\$21,000.00	
1	RUMMEL CONSTRUCTION, INC			\$13,885.000	\$97,195.00	+362.8%
2	HUNTER CONTRACTING COMPANY			\$13,616.800	\$95,317.60	+353.9%
3	D B A CONSTRUCTION INC.			\$14,760.000	\$103,320.00	+392.0%
4	GRANITE CONSTRUCTION COMPANY			\$10,000.000	\$70,000.00	+233.3%
8081151	EACH	WATER LINE (CURB STOP WITH VALVE BOX AND COVER, MAG DET. 390)				
Bid Rank	Department Estimate		7.000	\$350.000	\$2,450.00	
1	RUMMEL CONSTRUCTION, INC			\$7,175.000	\$50,225.00	+1950.0%

*** Bid Tabs for Proposal Pamphlet 2024025 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
8081151	EACH	WATER LINE (CURB STOP WITH VALVE BOX AND COVER, MAG DET. 390)				
Bid Rank		Department Estimate	7.000	\$350.000	\$2,450.00	
2		HUNTER CONTRACTING COMPANY		\$5,166.080	\$36,162.56	+1376.0%
3		D B A CONSTRUCTION INC.		\$5,640.000	\$39,480.00	+1511.4%
4		GRANITE CONSTRUCTION COMPANY		\$5,000.000	\$35,000.00	+1328.6%
8090086	L.FT.	SEWER PIPE (8") (PVC)				
Bid Rank		Department Estimate	2,630.000	\$8.000	\$21,040.00	
1		RUMMEL CONSTRUCTION, INC		\$131.000	\$344,530.00	+1537.5%
2		HUNTER CONTRACTING COMPANY		\$153.070	\$402,574.10	+1813.4%
3		D B A CONSTRUCTION INC.		\$166.000	\$436,580.00	+1975.0%
4		GRANITE CONSTRUCTION COMPANY		\$410.000	\$1,078,300.00	+5025.0%
8090501	EACH	SEWER STUBOUT AND PLUG				
Bid Rank		Department Estimate	9.000	\$500.000	\$4,500.00	
1		RUMMEL CONSTRUCTION, INC		\$9,850.000	\$88,650.00	+1870.0%
2		HUNTER CONTRACTING COMPANY		\$977.360	\$8,796.24	+95.5%
3		D B A CONSTRUCTION INC.		\$2,160.000	\$19,440.00	+332.0%
4		GRANITE CONSTRUCTION COMPANY		\$680.000	\$6,120.00	+36.0%
8091114	EACH	MANHOLE, SANITARY SEWER (60" SAN. SEWER, ARMOROCK)				
Bid Rank		Department Estimate	12.000	\$10,000.000	\$120,000.00	
1		RUMMEL CONSTRUCTION, INC		\$52,500.000	\$630,000.00	+425.0%
2		HUNTER CONTRACTING COMPANY		\$30,452.700	\$365,432.40	+204.5%
3		D B A CONSTRUCTION INC.		\$47,024.000	\$564,288.00	+370.2%
4		GRANITE CONSTRUCTION COMPANY		\$38,000.000	\$456,000.00	+280.0%
8092000	EACH	SEWER (4" PVC SEWER LINE CONNECTION, GIL DET. GIL410)				
Bid Rank		Department Estimate	18.000	\$2,000.000	\$36,000.00	
1		RUMMEL CONSTRUCTION, INC		\$5,400.000	\$97,200.00	+170.0%
2		HUNTER CONTRACTING COMPANY		\$3,157.110	\$56,827.98	+57.9%
3		D B A CONSTRUCTION INC.		\$5,710.000	\$102,780.00	+185.5%
4		GRANITE CONSTRUCTION COMPANY		\$8,000.000	\$144,000.00	+300.0%
9010001	L.SUM	MOBILIZATION				
Bid Rank		Department Estimate	1.000	\$240,000.000	\$240,000.00	
1		RUMMEL CONSTRUCTION, INC		\$300,000.000	\$300,000.00	+25.0%
2		HUNTER CONTRACTING COMPANY		\$225,000.000	\$225,000.00	-6.3%
3		D B A CONSTRUCTION INC.		\$321,200.000	\$321,200.00	+33.8%
4		GRANITE CONSTRUCTION COMPANY		\$449,206.260	\$449,206.26	+87.2%
9030008	L.FT.	FENCE (STEEL MESH, 4-FT HEIGHT)				
Bid Rank		Department Estimate	624.000	\$15.000	\$9,360.00	
1		RUMMEL CONSTRUCTION, INC		\$18.350	\$11,450.40	+22.3%
2		HUNTER CONTRACTING COMPANY		\$12.460	\$7,775.04	-16.9%

*** Bid Tabs for Proposal Pamphlet 2024025 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
9030008	L.FT.	FENCE (STEEL MESH, 4-FT HEIGHT)				
Bid Rank		Department Estimate	624.000	\$15.000	\$9,360.00	
3		D B A CONSTRUCTION INC.		\$20.000	\$12,480.00	+33.3%
4		GRANITE CONSTRUCTION COMPANY		\$15.000	\$9,360.00	+0.0%
9030043	EACH	RELOCATE GATE				
Bid Rank		Department Estimate	1.000	\$865.000	\$865.00	
1		RUMMEL CONSTRUCTION, INC		\$925.000	\$925.00	+6.9%
2		HUNTER CONTRACTING COMPANY		\$1,320.710	\$1,320.71	+52.7%
3		D B A CONSTRUCTION INC.		\$2,400.000	\$2,400.00	+177.5%
4		GRANITE CONSTRUCTION COMPANY		\$800.000	\$800.00	-7.5%
9080041	L.FT.	CONCRETE CURB (TRANSITION)				
Bid Rank		Department Estimate	5.000	\$600.000	\$3,000.00	
1		RUMMEL CONSTRUCTION, INC		\$115.000	\$575.00	-80.8%
2		HUNTER CONTRACTING COMPANY		\$46.560	\$232.80	-92.2%
3		D B A CONSTRUCTION INC.		\$225.000	\$1,125.00	-62.5%
4		GRANITE CONSTRUCTION COMPANY		\$45.000	\$225.00	-92.5%
9080101	L.FT.	CONCRETE CURB AND GUTTER, TYPE A (MAG DET. 220-1)				
Bid Rank		Department Estimate	1,285.000	\$40.000	\$51,400.00	
1		RUMMEL CONSTRUCTION, INC		\$29.000	\$37,265.00	-27.5%
2		HUNTER CONTRACTING COMPANY		\$31.650	\$40,670.25	-20.9%
3		D B A CONSTRUCTION INC.		\$25.400	\$32,639.00	-36.5%
4		GRANITE CONSTRUCTION COMPANY		\$45.000	\$57,825.00	+12.5%
9080102	L.FT.	CONCRETE CURB AND GUTTER, TYPE B (MAG DET. 220-1)				
Bid Rank		Department Estimate	3,779.000	\$45.000	\$170,055.00	
1		RUMMEL CONSTRUCTION, INC		\$25.000	\$94,475.00	-44.4%
2		HUNTER CONTRACTING COMPANY		\$30.030	\$113,483.37	-33.3%
3		D B A CONSTRUCTION INC.		\$24.000	\$90,696.00	-46.7%
4		GRANITE CONSTRUCTION COMPANY		\$46.000	\$173,834.00	+2.2%
9080107	L.FT.	CONCRETE SINGLE CURB (MAG DET. 222)				
Bid Rank		Department Estimate	108.000	\$18.000	\$1,944.00	
1		RUMMEL CONSTRUCTION, INC		\$30.850	\$3,331.80	+71.4%
2		HUNTER CONTRACTING COMPANY		\$40.510	\$4,375.08	+125.1%
3		D B A CONSTRUCTION INC.		\$46.000	\$4,968.00	+155.6%
4		GRANITE CONSTRUCTION COMPANY		\$27.000	\$2,916.00	+50.0%
9080241	SQ.FT.	CONCRETE SIDEWALK (MAG DET. 230)				
Bid Rank		Department Estimate	62.000	\$60.000	\$3,720.00	
1		RUMMEL CONSTRUCTION, INC		\$9.500	\$589.00	-84.2%
2		HUNTER CONTRACTING COMPANY		\$16.270	\$1,008.74	-72.9%
3		D B A CONSTRUCTION INC.		\$23.000	\$1,426.00	-61.7%

*** Bid Tabs for Proposal Pamphlet 2024025 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
9080241	SQ.FT.	CONCRETE SIDEWALK (MAG DET. 230)				
Bid Rank	Department Estimate		62.000	\$60.000	\$3,720.00	
4	GRANITE CONSTRUCTION COMPANY			\$18.000	\$1,116.00	-70.0%
9080286	EACH	CONCRETE SIDEWALK RAMP (25' Directional Curb Ramp, MAG 237-1)				
Bid Rank	Department Estimate		1.000	\$10,000.000	\$10,000.00	
1	RUMMEL CONSTRUCTION, INC			\$14,500.000	\$14,500.00	+45.0%
2	HUNTER CONTRACTING COMPANY			\$6,951.930	\$6,951.93	-30.5%
3	D B A CONSTRUCTION INC.			\$5,210.000	\$5,210.00	-47.9%
4	GRANITE CONSTRUCTION COMPANY			\$9,000.000	\$9,000.00	-10.0%
9080303	SQ.FT.	CONCRETE DRIVEWAY				
Bid Rank	Department Estimate		1,126.000	\$18.000	\$20,268.00	
1	RUMMEL CONSTRUCTION, INC			\$13.300	\$14,975.80	-26.1%
2	HUNTER CONTRACTING COMPANY			\$24.030	\$27,057.78	+33.5%
3	D B A CONSTRUCTION INC.			\$14.000	\$15,764.00	-22.2%
4	GRANITE CONSTRUCTION COMPANY			\$20.000	\$22,520.00	+11.1%
9080350	SQ.FT.	CONCRETE DRIVEWAY (MAG DET. 250-1 & 250-2)				
Bid Rank	Department Estimate		2,953.000	\$12.000	\$35,436.00	
1	RUMMEL CONSTRUCTION, INC			\$13.300	\$39,274.90	+10.8%
2	HUNTER CONTRACTING COMPANY			\$18.280	\$53,980.84	+52.3%
3	D B A CONSTRUCTION INC.			\$14.000	\$41,342.00	+16.7%
4	GRANITE CONSTRUCTION COMPANY			\$16.000	\$47,248.00	+33.3%
9090034	EACH	RESET VALVE BOX				
Bid Rank	Department Estimate		2.000	\$750.000	\$1,500.00	
1	RUMMEL CONSTRUCTION, INC			\$565.000	\$1,130.00	-24.7%
2	HUNTER CONTRACTING COMPANY			\$436.410	\$872.82	-41.8%
3	D B A CONSTRUCTION INC.			\$1,528.000	\$3,056.00	+103.7%
4	GRANITE CONSTRUCTION COMPANY			\$1,700.000	\$3,400.00	+126.7%
9120003	SQ.YD.	SHOTCRETE (3")				
Bid Rank	Department Estimate		2,409.000	\$75.000	\$180,675.00	
1	RUMMEL CONSTRUCTION, INC			\$58.000	\$139,722.00	-22.7%
2	HUNTER CONTRACTING COMPANY			\$60.000	\$144,540.00	-20.0%
3	D B A CONSTRUCTION INC.			\$83.000	\$199,947.00	+10.7%
4	GRANITE CONSTRUCTION COMPANY			\$75.000	\$180,675.00	+0.0%
9240144	L.FT.	MISCELLANEOUS WORK (THICKENED EDGE – MAG DET 201)				
Bid Rank	Department Estimate		24.000	\$60.000	\$1,440.00	
1	RUMMEL CONSTRUCTION, INC			\$25.000	\$600.00	-58.3%
2	HUNTER CONTRACTING COMPANY			\$9.570	\$229.68	-84.1%
3	D B A CONSTRUCTION INC.			\$64.000	\$1,536.00	+6.7%
4	GRANITE CONSTRUCTION COMPANY			\$30.000	\$720.00	-50.0%

*** Bid Tabs for Proposal Pamphlet 2024025 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
9240170	L.SUM	CONTRACTOR QUALITY CONTROL				
Bid Rank	Department Estimate		1.000	\$45,000.000	\$45,000.00	
1	RUMMEL CONSTRUCTION, INC			\$48,000.000	\$48,000.00	+6.7%
2	HUNTER CONTRACTING COMPANY			\$50,000.000	\$50,000.00	+11.1%
3	D B A CONSTRUCTION INC.			\$32,120.000	\$32,120.00	-28.6%
4	GRANITE CONSTRUCTION COMPANY			\$40,000.000	\$40,000.00	-11.1%
9250001	L.SUM	CONSTRUCTION SURVEYING AND LAYOUT				
Bid Rank	Department Estimate		1.000	\$35,000.000	\$35,000.00	
1	RUMMEL CONSTRUCTION, INC			\$42,000.000	\$42,000.00	+20.0%
2	HUNTER CONTRACTING COMPANY			\$50,000.000	\$50,000.00	+42.9%
3	D B A CONSTRUCTION INC.			\$67,200.000	\$67,200.00	+92.0%
4	GRANITE CONSTRUCTION COMPANY			\$40,000.000	\$40,000.00	+14.3%